Official Official Run Time Run Date MEASURE Q

ELECTION CANVASS FINAL OFFICIAL RESULTS

4:26 PM 11/17/2023 **MENDOCINO COUNTY**

City of Fort Bragg Special Election

11/7/2023

Page 1

Official Results Registered Voters 1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

| Precinct | YES | Q | Cast Votes | Undervotes | Overvotes | Vote By Mail Ballots Cast | Polls Ballots Cast | Total Ballots Cast | Registered Voters | Turnout Percentage |
|--------------------|-------|-----|------------|------------|-----------|---------------------------|--------------------|--------------------|-------------------|--------------------|
| 400004-WOODLAND | 251 | 55 | 306 | 0 | 0 | 306 | 0 | 306 | 1,052 | 29.09% |
| 999423-SEAVIEW | 36 | 0 | 36 | 0 | 0 | 36 | 0 | 36 | 72 | 50.00% |
| 999424-FIR | 187 | 40 | 227 | 0 | 0 | 227 | 0 | 227 | 639 | 35.52% |
| 999425-OAK | 172 | 52 | 224 | 0 | 0 | 224 | 0 | 224 | 612 | 36.60% |
| 999426-MADSEN | 24 | 9 | 33 | 0 | 0 | 33 | 0 | 33 | 81 | 40.74% |
| 999427-WALL | 88 | 26 | 114 | 0 | 0 | 114 | 0 | 114 | 374 | 30.48% |
| 999428-NOYO POINT | 138 | 25 | 163 | 1 | 0 | 164 | 0 | 164 | 586 | 27.99% |
| 999429-CYPRESS | 79 | 16 | 95 | 1 | 0 | 96 | 0 | 96 | 300 | 32.00% |
| 999430-CANYON VIEW | 37 | 13 | 50 | 0 | 0 | 50 | 0 | 50 | 139 | 35.97% |
| 999431-RIVERVIEW | 9 | 3 | 12 | 0 | 0 | 12 | 0 | 12 | 24 | 50.00% |
| Totals | 1,021 | 239 | 1,260 | 2 | 0 | 1,262 | 0 | 1,262 | 3,879 | 32.53% |

ELECTION FINAL OFFICIAL

4:25 PM

11/17/2023

RESULTS

Official

Run Time

Run Date

MENDOCINO COUNTY

City of Fort Bragg Special Election

Registered Voters 1262 of 3879 = 32.53% Precincts Reporting 10 of 10 = 100.00%

Official Results

11/7/2023

Page 1

| Choice | Party | Vote By M | ail | Polls | Total |
|--------|-------------|-------------|------|-------|---------------|
| YES | | 1,021 81.0 | 3% 0 | 0.00% | 1,021 81.03% |
| NO | | 239 18.9 | 7% 0 | 0.00% | 239 18.97% |
| | Cast Votes: | 1,260 100.0 | 0% 0 | 0.00% | 1,260 100.00% |
| | Undervotes: | 2 | 0 | | 2 |
| | Overvotes: | 0 | 0 | | 0 |

^{***} End of report ***

4:25 PM

11/17/2023

MENDOCINO COUNTY

Official Results

Registered Voters 1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023

Page 1

400004-WOODLAND

306 of 1,052 registered voters = 29.09%

MEASURE Q

Official

Run Time

Run Date

| | | | · · | |
|--------|-------------|--------------|---------|-------------|
| Choice | Party | Vote By Mail | Polls | Total |
| YES | | 251 82.03% | 0 0.00% | 251 82.03% |
| NO | | 55 17.97% | 0 0.00% | 55 17.97% |
| | Cast Votes: | 306 100.00% | 0 0.00% | 306 100.00% |
| | Undervotes: | 0 | 0 | 0 |
| | Overvotes: | 0 | 0 | 0 |
| | | | | |

4:25 PM

11/17/2023

MENDOCINO COUNTY

Official Results
Registered Voters

1262 of 3879 = 32.53%

Precincts Reporting

10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023

Page 2

999423-SEAVIEW

36 of 72 registered voters = 50.00%

MEASURE Q

Official

Run Time

Run Date

| Choice | Party | Vote | By Mail | | Polls | | Total |
|--------|-------------|------|---------|---|-------|----|---------|
| YES | | 36 | 100.00% | 0 | 0.00% | 36 | 100.00% |
| NO | | 0 | 0.00% | 0 | 0.00% | 0 | 0.00% |
| | Cast Votes: | 36 | 100.00% | 0 | 0.00% | 36 | 100.00% |
| | Undervotes: | 0 | | 0 | | 0 | |
| | Overvotes: | 0 | | 0 | | 0 | |

MENDOCINO COUNTY

City of Fort Bragg Special Election

Official Results Registered Voters

1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

4:25 PM 11/17/2023 11/7/2023 Page 3

999424-FIR

Official

Run Time

Run Date

227 of 639 registered voters = 35.52%

| Choice | Party | Vote By Mail | Polls | Total |
|--------|-------------|--------------|---------|-------------|
| YES | | 187 82.38% | 0 0.00% | 187 82.38% |
| NO | | 40 17.62% | 0 0.00% | 40 17.62% |
| | Cast Votes: | 227 100.00% | 0 0.00% | 227 100.00% |
| | Undervotes: | 0 | 0 | 0 |
| | Overvotes: | 0 | 0 | 0 |

MENDOCINO COUNTY

Official Results Registered Voters

1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

Official

Run Date

Run Time

11/7/2023

City of Fort Bragg Special Election

Page 4

999425-OAK

4:25 PM

11/17/2023

224 of 612 registered voters = 36.60%

| Choice | Party | Vote | By Mail | | Polls | | Total |
|--------|-------------|------|---------|---|-------|-----|---------|
| YES | | 172 | 76.79% | 0 | 0.00% | 172 | 76.79% |
| NO | | 52 | 23.21% | 0 | 0.00% | 52 | 23.21% |
| | Cast Votes: | 224 | 100.00% | 0 | 0.00% | 224 | 100.00% |
| | Undervotes: | 0 | | 0 | | . 0 | |
| | Overvotes: | 0 | | 0 | | 0 | |
| | | | | | | | |

4:25 PM

11/17/2023

MENDOCINO COUNTY

Official Results Registered Voters 1262 of 3879 = 32.53% Precincts Reporting

10 of 10 = 100.00%

Official

Run Time

Run Date

City of Fort Bragg Special Election

Page 5

11/7/2023

999426-MADSEN

33 of 81 registered voters = 40.74%

| Choice | Party | Vote By Mail | Polls | Total | |
|--------|-------------|--------------|---------|------------|--|
| YES | | 24 72.73% | 0 0.00% | 24 72.73% | |
| NO | | 9 27.27% | 0 0.00% | 9 27.27% | |
| | Cast Votes: | 33 100.00% | 0 0.00% | 33 100.00% | |
| | Undervotes: | 0 | 0 | 0 | |
| | Overvotes: | 0 | 0 | 0 | |

MENDOCINO COUNTY

Official Results

Registered Voters 1262 of 3879 = 32.53%

Precincts Reporting
10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023

Page 6

 Run Time
 4:25 PM

 Run Date
 11/17/2023

999427-WALL

Official

114 of 374 registered voters = 30.48%

| Choice | Party | Vote B | y Mail | | Polls | | Total |
|--------|-------------|--------|--------|---|-------|-----|---------|
| YES | | 88 | 77.19% | 0 | 0.00% | 88 | 77.19% |
| NO | | 26 | 22.81% | 0 | 0.00% | 26 | 22.81% |
| | Cast Votes: | 114 1 | 00.00% | 0 | 0.00% | 114 | 100.00% |
| | Undervotes: | 0 | | 0 | | 0 | |
| | Overvotes: | 0 | | 0 | | 0 | |

Official

Run Time

MENDOCINO COUNTY

Official Results
Registered Voters
1262 of 3879 = 32.53%

Precincts Reporting

10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023

Page 7

Run Date 11/17/2023

4:25 PM

999428-NOYO POINT

164 of 586 registered voters = 27.99%

| Choice | Party | Vote By Mail | Polls | Total |
|--------|-------------|--------------|---------|-------------|
| YES | | 138 84.66% | 0 0.00% | 138 84.66% |
| NO | | 25 15.34% | 0 0.00% | 25 15.34% |
| | Cast Votes: | 163 100.00% | 0 0.00% | 163 100.00% |
| | Undervotes: | 1 | 0 | . 1 |
| | Overvotes: | 0 | 0 | 0 |

MENDOCINO COUNTY

City of Fort Bragg Special Election

Official Results

Registered Voters 1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

Official

Run Time Run Date 4:25 PM 11/17/2023 11/7/2023 Page 8

999429-CYPRESS

96 of 300 registered voters = 32.00%

| Choice | Party | Vote By Mail | Polls | Total |
|--------|-------------|--------------|---------|------------|
| YES | | 79 83.16% | 0 0.00% | 79 83.16% |
| NO | | 16 16.84% | 0 0.00% | 16 16.84% |
| | Cast Votes: | 95 100.00% | 0 0.00% | 95 100.00% |
| | Undervotes: | 1 | 0 | 1 |
| | Overvotes: | 0 | 0 | 0 |

Official

Run Time

Run Date

4:25 PM 11/17/2023

MENDOCINO COUNTY

Official Results

Registered Voters

1262 of 3879 = 32.53%

Precincts Reporting 10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023

Page 9

50 of 139 registered voters = 35.97%

999430-CANYON VIEW

| Choice | Party | Vote | Vote By Mail | | Polls | | | Total |
|--------|-------------|------|--------------|---|-------|--|----|---------|
| YES | rarty | 37 | 74.00% | 0 | 0.00% | | 37 | 74.00% |
| NO | | 13 | 26.00% | 0 | 0.00% | | 13 | 26.00% |
| | Cast Votes: | 50 | 100.00% | 0 | 0.00% | | 50 | 100.00% |
| | Undervotes: | 0 | | 0 | | | 0 | |
| | Overvotes: | 0 | | 0 | | | 0 | |

Official

Run Time

Run Date

4:25 PM 11/17/2023

MENDOCINO COUNTY

Registered Voters 1262 of 3879 = 32.53%

Official Results

Precincts Reporting
10 of 10 = 100.00%

City of Fort Bragg Special Election

11/7/2023 Page 10

999431-RIVERVIEW

12 of 24 registered voters = 50.00%

| Total | |
|-------|---------|
| 9. | 75.00% |
| 3 | 25.00% |
| 12 | 100.00% |
| 0 | |
| 0 | |
| | |

^{***} End of report ***